4 | 2 | 1
PILOT
HOLE
0 o O’O o © 0
O o o) oDo
A AAA PRODUCTS INT'L POSITION GASKET TO SEAL PILOT HOLE
R — — —ZNHD2G) - BOTH SIDES. (SIDE 'A' SHOWN)
XX
WWW.AAAPRODUCTS.COM
NOTES:

@)

MARK VALVE USING 1/8" LETTERS
WHERE XX IS THE DATE CODE

1) ALWAYS GIVE VALVE MODEL, AND PART NUMBER WHEN ORDERING PARTS.
2) LUBRICATE DETENT BALL, SPRING AND CLEVIS.

Dr\ENGINeeNG\ProduUCTVaNeS\ASSemBIy\Lever HDYSWG\ZNHD 2631w

9] 1 |k KIT - SUBPLATE MOUNTING, BRASS NAMUR, (2 EA V-618-55 SCREW, 2 EA V-565 O-RING)
B8] 1 |vs4s O-RING, BUNA-N, 70 DURO, 6MM X 1M, NAMUR PLUG
7] 1 v PLUG, 360 HALF HARD BRASS, NAMUR VALVE
6] 1 |vass SCREW, 1/4-20 X 3/16, SOCKET SET, CUP POINT, 18-8 55
5] 1 D3t SPRING, DETENT, STAINLESS, 1/4" & 3/8" VALVE. LEE SPRING # LC 02980,
W] 1 |v14ss BALL, 440C STAINLESS STEEL, 3/16 DIA. FOR DETENT
B 4 V1625 SCREW, 10-24 X 5/8, SOCKET HEAD CAP, STAINLESS STEEL
2] 1 |He3 CLEVIS - 3 POS. DETENT, STAINLESS, 1/4" & 3/8" VALVE
1] 1 |v48ss PIN, ROLL 3/16 X 9/16 18-8 STAINLESS
0] 1 |v5085 PIN, ROLL 3/16 X 5/8", 18-8 55
— @ 9| 1 |vsa KNOB, RED (BRASS 3/8-16 INSERT), 1" DIA BALL, 1/4" & 3/8" VALVE
8| 1 |H3SS HAND LEVER, 303 STAINLESS STEEL, 1/4' & 3/8" VALVE
7] 1 W END CAP, LEVER, DETENT, 303 STAINLESS STEEL, 1/4" & 3/8" VALVE
@ 6| 1 |ssH3G SPOOL - ‘G, 3 POS, FLOAT CTR, 1/4" & 3/8" VALVE

5| 1 |sE33 END CAP, VENTED, STAINLESS STEEL, 1/4" & 3/8" VALVES
4| 4 |v3sss SCREW, 10-24 X 3/4, SOCKET HEAD CAP, 18-8 55
3] 2 |E® GASKET - END CAP, 1/4" & 3/8" VALVE |
2| 6 |V O-RING, VITON, STD BODY, 1/4" & 3/8" VALVES |

SIDE "B" Z SIDE "A" 1] 1 |21 BODY - BRASS, UPPER PILOTS (BUTTON BLEEDER), 1/4" NAMUR I

N FLG| QTY | PARTNO | DESCRIPTION
LIMITS %N DIMSENSIONS § Et gggmti 835 AAA{ Imlﬂ}g%%%sﬂ
OTHERWISE SPECIFIED m‘gﬂﬂ“fﬁ” 64 [ e ™ 71%;; Ililaasr’r.{-):l;nseszlevd
SECTION A-A DRAWN: RMcKenna DATE: 9/16/2015 CHECKED: KWaite DATE: 9/16/2015
SCALE1:1 2 4 O [sere_t:1 SHEET: 1 OF 1 RELEASED: HWomack DATE: 9/16/2015
VIEW FROM 3 PORT SIDE \\' '/ & / /‘ TITLE: 1/4" NAMUR, LEVER, 3 POS, PARTNO.: REV.:
AT DETENT, LEVER SHFT, FLOAT CTR SPL, ZNHD2G)
BRASS & STAINLESS, RED KNOB
4 I 3 2 THE INFORMATION CONTAINED WITHIN THIS DOCUMENT IS PROPRIETARY TO AfA PRODUCTS AND MAY NOT BE DISCLOSED

WITHOUT PRIOR WRITTEN CONSENT



